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Write the slope-intercept form of the equation of the line through the given point with the given
slope. Show your work.

1) through: (1, 1), slope =4 2) through: (1, 5), slope=3

3) through: (2, —2), slope = —% 4) through: (—2, 3), slope = —%



5) through: (-1, -2), slope =; 6) through: (-2, 3), slope=-1



A. What is an equation of the line through P that is parallel to £?
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B. What is the equation of the line through P that is perpendicular to £?
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Find the midpoint of segment

AB. <\+x?, Yﬁ-y.,) (HS‘ ug+(a)>
m(2,!)

Find the equation of the line
perpendicular to AB that goes
through the midpoint.
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Write the slope-intercept form of the equation of the line described.

through: (2, 2), parallel to y = x + 4
m=|

\/—?,LICX—,;\B
\/~9~1)(-l
\/:x

2
through: (2, —1), parallel to y =— gx +3

through: (2, —4), parallel to y =3x+ 2
W'\:S (ZJ_LB
YHd= B (x-2)
Vi~ Ox-C
V= Ox-10



Write the slope-intercept form of the equation of the line described.

through: (1, —5), perp.to y = %x +2
m=-3 CU“S}

Y+S=-‘8(x—t§
YiS=—W+g
V="8x+7

' 2
through: (3, 1), perp.to y= —§x+ 4
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through: (3, 4), perp.to y=-2x—-4
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4. What are equations of lines parallel and perpendicular to the given line k
passing through point 77 1

a.y=-3x+2T(3 1)
V- l= lb(x—b)
V-l 3%

boy=3x- 5T(12 )

w \/:: —%X—H



10. What is an equation for the line parallel to y = —x + 7 that passes
through (7, —2)?

Y42= -(><—7)
Viz=~x47

Ve-X+S§

11. What is an equation for the line perpendicular to y = 3x — 1 that passes
through (-9, —-2)?

Vas “3(x19)
V2= TiXeD
\/:“3)(*5_



Are lines g and n parallel?

Are lines j and m parallel?

. Are lines n and k perpendicular?

Are lines h and j perpendicular?
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